1. Zjednodus vyrazy:
a) 2t + 5t + 8t — 10t
b) 8x + 7y — 10x + 5y
¢) (4a—5b) + (6ba—7b + 10)
d)4.2a-53b—-6,1a-7b
e) (14a—5b) + (16a— 7b + 0,2a)

2. Odcitaj:

a)(1,5x-14y+1.7) - (- 1.7y —x+22)
b)(2b+3c—-4)-(5b—-4c)

c) (14a—-5b) — (16a + 7b + 0.2a)

d) (4a— 5b) — (6.5a— 7b - 10)
e)-6m-(—-10n-5m)-n

f) m+~(-10n)—( 6n-5m)

ZjednoduSujeme vyrazy

fy~6m+(—10n)—(—5m)—-n
g)(4u+7v)+(—Tu+4v)
h)3a-5+2,2b+ 25a+3+7b
D(2b+3)-(5b—-4)
PD=(5x-4y+TN—-(-Ty+x-9)

g) —10a-(7a+42b-11)+(-42b+1,1)+ 8a

3. Vynasob:
a)7a.8b

b) 11x. 0,2y
¢)0.5a.10b. 0.1c
d)—4m.4n.0,lp
e) (-3x).(—-12y)

) 0,2a. (- 0.2b)
4, Vydel:
a)32a:8
b)4.4x:0.2
¢)—-0,5a:10

d) (-40m) : 0.1

e)(144x - 12y) : 12

g) 8.(4a+7b-c)

h) - 5.(-2x + 7y — 32)

i) (—3m+4n).11

)9+ 1la—4b—2c +8d).4
k) (6q + 8w — 15).(— 3)
-8.(a+b—-4c+1)

H(12d+42¢-18):6

g) (—13a + 20b+35¢) : (- 5)
h) (0.25x = 0.43y) : (- 0.1)

i) (3a-6b+12.3):10

j) (= 7a+420b + 123) : (- 100)

5. Rozloz na st¢in vynatim spoloéného ¢initel'a pred zatvorku:

a)42a+77b=
b)—44x — 22y - 33 =

¢) 25u+ 25v-50=
d)—5Sab+ 15b—20a =
e)—-21x+ 28y -14z+49=
f)24a+ 18b—33¢c—-9d =

6. Zjednodus:
a)3.(5a-7b) +4.(2a+b)
b) - 4.(x+y) = 5.(y =)
c)(a-3b+c).ll+9a—-6b
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d)12a—8.(5a-8)+(da—-1).2
&) (6x — 7y).5 — 4.(6x + 7y)
f) —(Qu+10v+112)=2.(u+v+2z)



